
 Quiz 51   

SBU 2020                                               Lesson 51 (quiz)   

 

 

1) Here are some auctions. The question is, is West’s last bid forcing or not? 

     If so, is it forcing to game or for one round? 

 

 West East West East West East West East 

 1 2 1 1 1 1 1 1 

 2NT ? 1NT ? 2NT ? 2 ? 

 

 ______________ ______________ ______________ ______________ 

 

 

 

 West East West East West East West East 

 1 2 1 1 1 1 1 1 

 3 ? 3 ? 2 ? 3 ? 

 

 ______________ ______________ ______________ ______________ 

 

 

 

 

 

2) How should these pairs of hands be bid?  West is dealer. 

 

 West East West East 

  AQ1095  K87  8  Q953 

  9  J102  AKQJ65  1042 

  KQ83  A74  A87  9 

  AK5  QJ94  Q53  AKJ107 

 

 ________ ________ ________ ________ 

 ________ ________ ________ ________ 

 ________ ________ ________ ________ 

 ________ ________ ________ ________ 

 ________ ________ ________ ________ 

 

 

3) Invent a pair of hands to fit this auction. 

 

 West East West East 

 1 2  ________  ________ 

 2 2NT  ________  ________  

 3 3NT  ________  ________ 

 Pass   ________  ________ 

 

 


